

05

I. ψ

$\frac{[\Phi \vee \Psi]_4}{\frac{[\Phi], \Phi \rightarrow (x \vee r)}{x \vee r}} \quad \frac{[\Psi], \Psi \rightarrow (x \vee r)}{x \vee r} \quad 1$	$\frac{[\neg x \wedge \neg r]_3}{\neg x} \quad (\neg x)_2$	$\frac{[x \wedge \neg r]_3}{\neg r} \quad (r)_2$
$x \vee r$	\perp	\perp
\perp		
$\frac{\perp}{\neg(\neg x \wedge \neg r)} \quad 3$		
$\frac{\neg(\neg x \wedge \neg r)}{(\Phi \vee \Psi) \rightarrow \neg(\neg x \wedge \neg r)} \quad 4$		

(2)

$\frac{[\Phi \wedge (x \vee r)]_2}{\frac{\Phi}{\neg \Psi} \quad \frac{\Phi \rightarrow \neg \Psi}{\neg \Psi} \quad \frac{\neg \Psi \rightarrow x}{\neg x} \quad [x]_1}$	$\frac{[\Phi \wedge (x \vee r)]_2}{\Phi} \quad \frac{\Phi \rightarrow \neg \Psi}{\neg \Psi} \quad \frac{[\neg], \neg \rightarrow \neg \neg \Psi}{\neg \Psi}$
$x \vee r$	$\neg x$
\perp	\perp

$\frac{\perp}{\Psi} \quad 1$
 $\frac{\Psi}{(\Phi \wedge (x \vee r)) \rightarrow \Psi} \quad 2$

//

//

$$\frac{\frac{\perp}{\neg \Phi(x)} \quad 1}{\forall x \neg \Phi(x)} \quad \text{---}$$

$$\frac{\forall x \neg \Phi(x) \vee \Omega \quad [\neg (\forall x \neg \Phi(x) \vee \Omega)]_2}{\perp} \quad \text{---}$$

$$\frac{\neg \neg (\forall x \neg \Phi(x) \vee \Omega) \quad 2}{\forall x \neg \Phi(x) \vee \Omega} \quad \text{NK}$$

[illegible]

1. Ax. 3-2

$$\forall z \forall x (z + \sqrt{x} = \sqrt{z+x})$$

$$\forall x (z + \sqrt{x} = \sqrt{z+x})$$

$$z + \sqrt{x} = \sqrt{z+x} \quad [z + \sqrt{x} = z + \sqrt{y}]$$

$$\sqrt{z+x} = z + \sqrt{y}$$

$$\sqrt{z+x} = \sqrt{z+y}$$

$$z+x = z+y \rightarrow x=y$$

$$x=y$$

$$\sqrt{x} = \sqrt{y}$$

$$z + \sqrt{x} = z + \sqrt{y} \rightarrow \sqrt{x} = \sqrt{y}$$

$$\forall z \forall x (z + \sqrt{x} = z + \sqrt{y} \rightarrow \sqrt{x} = \sqrt{y})$$

Ax. 3-2

$$\forall z \forall y (z + \sqrt{y} = \sqrt{z+y})$$

$$\forall y (z + \sqrt{y} = \sqrt{z+y})$$

$$z + \sqrt{y} = \sqrt{z+y}$$

Ax. 2

$$\sqrt{z+x} = \sqrt{z+y} \rightarrow z+x = z+y$$

$$z+x = z+y$$

$$\sqrt{x} = \sqrt{y}$$

//

III 部分証明 図 Π_1

$$\begin{array}{c}
 (3) \\
 \frac{\forall u (u \in \downarrow x \rightarrow u \in S)}{u \in \downarrow x \rightarrow u \in S} [u \in \downarrow x]_2 \quad \frac{\forall v (v \in \downarrow x \rightarrow v \in S)}{v \in \downarrow x \rightarrow v \in S} [v \in \downarrow x]_1 \\
 \hline
 u \in S \quad v \in S \\
 \hline
 u \in S \wedge v \in S \\
 \hline
 \sup(\{u, v\}) \in S
 \end{array}
 \quad
 \begin{array}{c}
 (1) \\
 \frac{\forall u ((u \in S \wedge v \in S) \rightarrow \sup(\{u, v\}) \in S)}{(u \in S \wedge v \in S) \rightarrow \sup(\{u, v\}) \in S}
 \end{array}$$

部分証明 図 Π_2

$$\begin{array}{c}
 (4) \\
 \frac{\forall u (u \in \downarrow x \rightarrow u \leq x)}{u \in \downarrow x \rightarrow u \leq x} [u \in \downarrow x]_2 \quad \frac{\forall v (v \in \downarrow x \rightarrow v \leq x)}{v \in \downarrow x \rightarrow v \leq x} [v \in \downarrow x]_1 \\
 \hline
 u \leq x \quad v \leq x \\
 \hline
 u \leq x \wedge v \leq x \\
 \hline
 \sup(\{u, v\}) \leq x
 \end{array}
 \quad
 \begin{array}{c}
 (2) \\
 \frac{\forall x ((u \leq x \wedge v \leq x) \rightarrow \sup(\{u, v\}) \leq x)}{(u \leq x \wedge v \leq x) \rightarrow \sup(\{u, v\}) \leq x}
 \end{array}$$

全体証明 図

$$\begin{array}{c}
 (5) \\
 \frac{(\sup(\{u, v\}) \in S \wedge \sup(\{u, v\}) \leq x) \rightarrow \sup(\{u, v\}) \in \downarrow x}{\sup(\{u, v\}) \in \downarrow x} \quad \frac{\sup(\{u, v\}) \in S \quad \sup(\{u, v\}) \leq x}{\sup(\{u, v\}) \in S \wedge \sup(\{u, v\}) \leq x} \quad \begin{array}{l} \Pi_1 \\ \Pi_2 \end{array} \\
 \hline
 \frac{\sup(\{u, v\}) \in \downarrow x}{v \in \downarrow x \rightarrow \sup(\{u, v\}) \in \downarrow x} \quad 1 \\
 \hline
 \frac{v \in \downarrow x \rightarrow \sup(\{u, v\}) \in \downarrow x}{u \in \downarrow x \rightarrow (v \in \downarrow x \rightarrow \sup(\{u, v\}) \in \downarrow x)} \quad 2 \\
 \hline
 \frac{\forall v (u \in \downarrow x \rightarrow (v \in \downarrow x \rightarrow \sup(\{u, v\}) \in \downarrow x))}{\forall u \forall v (u \in \downarrow x \rightarrow (v \in \downarrow x \rightarrow \sup(\{u, v\}) \in \downarrow x))}
 \end{array}$$